Math 45021 Euclidean Geometry Spring 2017

Quiz 1 H Matt Alexander
Name: A Quiz Score: /20
1.Mark as true or false the following statements. Suppose AABC and ADEF are such that: BE

B

A) gﬁ{@ F AB = DE, BC = EF, and /B = /FE. This implies that AABC = ADEF. ﬁ/_{&{ .
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B) T /{/F AB = DE, BC = FEF, and £ZC = /F. This implies that AABC = ADEF.

C) T é{F> LA = ZD, 4B = /ZFE, and £LC = ZF. This implies that AABC = ADEF.

2. Construct the angle bisector to any angle ZABC.
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3. Prove that the median to the base of an isosceles tirangle is the perpendicular bisector as well as tﬁj;\e
angle ble‘Ct()I‘ of the angle opposite the babe /
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4. Given a triangle AABC and a median BM which splits the triangle into two triangles with equal
perimeter, show that these two triangles are congruent.
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